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SN HSXED
Hu: Asmol HRHE
ool ASEE CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SOAAE R KA 250,000 250,000 0
308 AHAIEHHSOIA 250,000 250,000 0
01 HXNHHBHELS 250,000 250,000 0
OZgxHAd 24Hl XA 250,000
dEM=s0a K& 10,000 0 10,000
307 glz2tol & 10,000 0 10,000
04 QIZFHALALH 2 = 10,000 0 10,000
OHM27sl DIAHS=E dEU3 10,000
MEHSTE 4,937,502 4,747,839 189,663
J| 2,197,315
< 2,740,187
MEHE XA 2,000 1,800 200
202 044l 2,000 1,800 200
01 = LH o4 1l 2,000 1,800 200
OdaH=s =204l 2,000
HEH=3 23 716,361 672,674 43,687
J| 65,647
< 650,714
307 21201 A 716,361 672,674 43,687
J| 65,647
< 650,714
03 2IAHMEE2IHIES 716,361 672,674 43,687
OMEN=32L XN 650,714
QUENSI2IXNA(EX) 65,647
J| 65,647
Metxs KNS X BX 944,580 938,520 6,060
J| 903,096
L3 41,484
307 21201 A 27,408 25,728 1,680
J| 12,204
< 15,204
02 QB LA EX 27,408 25,728 1,680
Ot & X = Xl = X+b X 27,408
J| 12,204
< 15,204
308 AHAIEHHSOIA 917,172 912,792 4,380
J| 890,892
< 26,280
01 HXNHHNBMNEELS 917,172 912,792 4,380
Ot ME X S XU XI (Al 22) 917,172
J| 890,892
< 26,280




SN HSXED
Hu: Asmol HRHE
& MBS (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
oza M=sg2s XN 876,858 771,848 105,010
J| 804,033
< 72,825
307 gl2tol & 100,770 96,632 4,138
J| 47,385
< 53,385
02 It HAHE L 100,770 96,632 4,138
O ME X = Xl = Xk X 54,816
J| 24,408
< 30,408
OFF=ZH2MMENSUHSE 45,954
J| 22,977
< 22,977
308 AHAIEHHSOIA 776,088 675,216 100,872
J| 756,648
< 19,440
01 HXNHHNBMNELS 776,088 675,216 100,872
O ME S X S XX (Al 2) 776,088
J| 756,648
< 19,440
SE=EE MEXNSs XNEX X 92,191 92,191 0
308 XXM SO0l A 92,191 92,191 0
01 IXNHHBNEES 92,191 92,191 0
OSESZYUEMSAEZ X 92,191
A2 01EEA N 515,512 484,806 30,706
J| 424,539
< 90,973
308 XtXIEHHSOIA 515,512 484,806 30,706
J| 424,539
< 90,973
01 X HHILEES 515,512 484,806 30,706
OAax=2% 0184 XA 515,512
J| 424,539
< 90,973
HEHs EESSLHEY L2 60,000 60,000 0
307 gl2tol & 60,000 60,000 0
02 It S AHE L 60,000 60,000 0
OES=EAgA2ENE 60,000
MEds Z20Y 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
02 It M AHE X 20,000 20,000 0
OMENSNENAS LSRRI AHS 20,000
METE HAX 22t 12,000 12,000 0
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R s R SE=an);
M A=HOl HSAE
Sl MEHSHE (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
01 HIXNHHNBHNEES 100,000 100,000 0
OFSINEIRE=US 100,000
A= M4AXENH U3 78,000 88,000 A 10,000
308 XXM SOIA 78,000 48,000 30,000
01 IXNHHBANEES 78,000 48,000 30,000
OFEST XA E AL TE AU 2 48,000
02016 SEAMNEIMATIEH HE 30,000
HEOa X& 24,000 24,000 0
307 glz2tol & 24,000 24,000 0
04 QIZFHALAIH E = 24,000 24,000 0
OS=EZ XAt Bt S T3 9,000
OUWMEHIS2I O&t 15,000
A XI& 60,000 60,000 0
308 MXIEHSOIH 60,000 60,000 0
01 HXNHHNBHELS 60,000 60,000 0
OMHHA S 60,000
MEHSSEHE TVEH 12,000 12,000 0
307 glz2tol & 12,000 12,000 0
04 DI2HHALALSE E X 12,000 12,000 0
OdEM=sETVEA 12,000
21 55 SUSdtna 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH E = 20,000 20,000 0
Os=2zsdnsy 20,000
=703 X ¢ XA 46,000 46,000 0
308 XtXIEHH SOl A 46,000 46,000 0
01 X HHILEES 46,000 46,000 0
OWK(GiX=2)eld !X 46,000
A= ROHHME XA 70,000 70,000 0
308 AHAIEHHSOIA 70,000 70,000 0
01 HXNHHBHELS 70,000 70,000 0
OX=RUME 70,000
YHEUs XA 100,000 0 100,000
308 XXM SO A 100,000 0 100,000
01 HIXNHHBNEES 100,000 0 100,000
OEX At S S=2HMYHEUH 3 100,000
I=FEIIUs K& 5,000 5,000 0




R s R SE=an);
M A=HOl HSAE
Sl MEHSHE (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 5,000 5,000 0
04 DIZHSHALAIRI 2 = 5,000 5,000 0
OSESE XA 2I5FEI|0HS 5,000
A9 R=E3 WIUHS 20,000 10,000 10,000
308 XXM SO0l A 20,000 10,000 10,000
01 IXNHHBNEES 20,000 10,000 10,000
O=H & -5 d424 =235 WFU3I 20,000
HAAT XA 20,000 20,000 0
308 XtXIEHHSOIA 20,000 20,000 0
01 X HHILEES 20,000 20,000 0
OZXAHY HAAZ X3 20,000
sE=23C HEE 140,000 140,000 0
307 21201 A 100,000 100,000 0
04 DIZHSHALALH 2 £ 100,000 100,000 0
Os=8H H&Ed 100,000
308 XX EHSOIA 40,000 40,000 0
01 IXNSHHBNEES 40,000 40,000 0
Os=38H HWEZE 40,000
Lats sx ¥ XA 20,000 20,000 0
308 XtXIEHH SOl A 20,000 20,000 0
01 AXHHILEES 20,000 20,000 0
Odatisl X& 20,000
A=K 8,000 8,000 0
308 XtXIEHHSOIA 8,000 0 8,000
01 HXNHHNBHELS 8,000 0 8,000
OSEEEZ XA =254 03 8,000
FMHAMESEE 3,518,807 3,232,213 286,594
Jl| 20,000
= 3,498,807
M= &EAY 3,428,807 3,172,213 256,594
307 gl2tol & 3,428,807 3,172,213 256,594
02 IZtE M AHE L 2,666,980 2,452,780 214,200
OZOMAM=EE S A 1,648,780
O AZ=AMAER2A 885,200
O SEXE 133,000
03 QIAHMNHE2IHIEE 671,827 629,433 42,394
OAMEX2gHI 671,827
QIZHHAFARR 2 X 90,000 90,000 0




R s R SE=an);
Hu: Asmol HRHE
Sl HOHOMSHE (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSXIAtHH & = Z 01 2! Xl = TH 3 70,000
OFMHA=HAZ=NSE 20,000
FHMEN=UHE XA 60,000 60,000 0
J| 20,000
< 40,000
307 21201 A 60,000 60,000 0
J| 20,000
< 40,000
04 DIZHHALALSE E X 60,000 60,000 0
OZOHMEH =2 60,000
J| 20,000
< 40,000
SR8 U3 X 30,000 0 30,000
308 XX EHSOIA 30,000 0 30,000
01 HIXNHHBNEES 30,000 0 30,000
Q20168 MO0 SRS HAl 30,000
HEALE &= 34,912,680 21,040,680 13,872,000
Xl 12,708,000
J| 3,000,000
< 19,204,680
SSAZIMEH 22 178,680 173,680 5,000
307 21201 A 178,680 173,680 5,000
02 QIZtE M AMHEE 178,680 173,680 5,000
OS=ESAZ=MYH 22| 178,680
MBS =4 4,507,000 3,385,000 1,122,000
Xl 2,080,000
< 2,427,000
403 MHXISHHE X201 H 4,507,000 3,385,000 1,122,000
Xl 2,080,000
< 2,427,000
01 X SHHX2E= 4,507,000 3,385,000 1,122,000
OB dRYUENSIEEES 7THA 4,507,000
Xl 2,080,000
= 2,427,000
LAY MEXNSAE 24 650,000 780,000 A 130,000
Xl 300,000
S 350,000
403 MHXSHHSA=0l& 650,000 780,000 A 130,000
X 300,000
< 350,000
01 X SHHMA2E X 650,000 780,000 A 130,000
OMd 8¢ MAZIAHOE=SHE =4 5 2L 650,000
Xl 300,000
< 350,000




R s R SE=an);
Hu: Asmol HRHE
S MSAE =25 (&)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
NLMsAd =4 22,052,000 15,152,000 6,900,000
Xl 10,178,000
< 11,874,000
403 UHXISHHSA=0l& 22,052,000 15,152,000 6,900,000
X 10,178,000
< 11,874,000
01 HXESHMA=LE L 22,052,000 15,152,000 6,900,000
OXNZHMSALETL(E2= NZD0FE HE
S 2101) 22,052,000
Xl 10,178,000
S 11,874,000
SOXHAE AlE XEAS 1,200,000 1,200,000 0
403 A X EHHSH=20IA 1,200,000 1,200,000 0
TAXEH =2 X 1,200,000 1,200,000 0
020178 SR ME AL XA 1,200,000
=0HSdEHAE 2,000,000 0 2,000,000
| 1,000,000
< 1,000,000
403 UHtXSHHSA=0l& 2,000,000 0 2,000,000
| 1,000,000
= 1,000,000
01 X SHMA=2EE 2,000,000 0 2,000,000
O=eUNSsHdH HE 2,000,000
| 1,000,000
< 1,000,000
Algad HE 4,000,000 0 4,000,000
| 2,000,000
< 2,000,000
403 UtXISHE X201 E 4,000,000 0 4,000,000
| 2,000,000
< 2,000,000
01 X SHHA2E= 4,000,000 0 4,000,000
Ooaugady ¢ 4,000,000
| 2,000,000
< 2,000,000
dMAZEASLE =& 325,000 0 325,000
Xl 150,000
< 175,000
403 A X EHHSH20IA 325,000 0 325,000
Xl 150,000
< 175,000
T RAXEHAZ2E xR 325,000 0 325,000
QUMAZ=AY ZE(LSIHFIAMNEE) 325,000
Xl 150,000
< 175,000




2N

=]

H=iE
Hu: Asmol HRHE
el 2HEAF X (2 &HH)
- _ _ RE]
DA - B -G (3A) - MEAY - B Ol At o %@ﬁ HRE2
ZHE!A X 1,607,500 3,000 1,604,500
N H S0 0FAE & JH 1,607,500 0 1,607,500
202 044l 3,000 0 3,000
01 2L I 3,000 0 3,000
OMAHSRUHOIAEHAY 2o 3,000
307 Q12+0| & 1,604,500 0 1,604,500
02 QIZFA AAIE E X 1,604,500 0 1,604,500
O2016M H LW OFAEHA S JH = 1,604,500
2017 E8=HM&E 42 M= 30,839,800 8,003,000 22,836,800
J| 15,000,000
= 15,839,800
Hd=2HE =H| 30,839,800 8,003,000 22,836,800
J| 15,000,000
= 15,839,800
H2Z2HAEALES 30,604,000 8,003,000 22,601,000
J| 15,000,000
& 15,604,000
403 XX SHHS K20 & 30,604,000 8,000,000 22,604,000
J| 15,000,000
& 15,604,000
01 XIS A=Z2E X 30,604,000 8,000,000 22,604,000
OF=ZHMAE HIHE AxF L HES 30,604,000
J| 15,000,000
= 15,604,000
d=2HAE J® & &H 235,800 0 235,800
201 et 104,800 0 104,800
01 AR 22l ] 104,800 0 104,800
O&F=ZHMAE JN& Y 829 AtR222 104,800
202 o4 H| 6,000 0 6,000
01 2L HI 6,000 0 6,000
OF=ZHAE 2LHOH| 6,000
207 I | 75,000 0 75,000
01 A2 ES | 35,000 0 35,000
OF=HMNE A= Y e 35,000
02 & A Y| 40,000 0 40,000
O&F=ZM&E ZHOIX 4 40,000
301 et A= 30,000 0 30,000
11 J|EtE A= 30,000 0 30,000
OF=ZMHE M2 S B2 AlM2 30,000
307 QI2t0| ™ 20,000 0 20,000




R s R SE=an);
M 2017 H2HMAE &2 Mz
& d=2HAE = (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 DI2HHALALSE E X 20,000 0 20,000
OX=HME HalJl I~ A 20,000
HHL2IGZH(MSHED) 52,763 57,186 AN4,423
Jl23l 52,763 57,186 N4,423
JIE23l 52,763 57,186 N4, 423
201 Zet24l 16,853 15,966 887
01 At 2t 2l 16,853 15,966 887
OJl2+=8Hl 6,878
OJl==s gl 9,975
202 Odl 35,910 34,020 1,890
01 = LH 4 Hi 35,910 34,020 1,890
Ol 35,910




